2.1

2.2

2522

2524

2522

2522

1,852

2524

?]

Hu

2524



248
178
211
857

103

*%

81

39

#4)**

”

33

68
34

1,852



2.3 N

7
1
!
19

no

10

75
2.4

2.4.1

75

? L
79
79
h
|, 1
2522 2524
70 ' ?




? ? ? ? ?
7 ', * 9 .
?
242 « M
? 79 9 ?
? W 1774 L
! ? A R B R B
? NN, ? ?
DA 79
? i
X = ? (Mean of cumulative grade
point average) ? 79 ? ?
( 2 ) 79 ?
? ? 77 ?
? /) ? ?
79 7
XI = (Mean of cumulative grade
point average) 7 ?
7 7 ? ?
? I ? ? 7 7 )
L9 ? ?



Sd ' (Standard deviation)

53 ? ? ? ;
( ) ) ) 1t
? t 53
7 , ;7
? ?
Sd' = (Standard deviation)
157 A ? ? fi
VA ; ? %
? ' ?
? ?
X - X
$ L2 e (1)
. X' - X 0
B Sd' """""""""""""""
XA ? 2.00 0.01 !
57 4.00
2.00, 2.01, 2.02, 2.03, i , 3.98, 3.99, 4.00
XNo= 53 (Cumulative grade point
average) 7?7 f
( .
)
? 2 ?

55
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v

(Cumulative grade point average)

?
? 1 1
?
(standard score)
i
(Standard score)
*?



fait

?

2.4.3

X1
X2

Xi

1?

2.05,

2.07,

2.12,

27

Z1

Z2

Z1:

27

-1.02273

-0.88096

-1.00767

??

??
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S i C) o
|
?
72 = | l?) 7 A
7
| AN
A = ) 1
1?
{
(z2 - Z) = -0.88096 + 1.02273 = 0.14177
(X2 - X)
= 207 - 2.05 =0.02
Z -2) -0.88096 + 1.00767 = 0.12671
0.02(0.12671) 0.01788
0.14177
?
1 l) ?
= 2.07 -0.01788

2.05212



2.12 ? ? ? ?' ?
2 > 2 2 ? 2 2 fl
2.05212
2.4.4 ? ?
? ? ” 9
? | ? ?
] = 7 ? " 19)
7' 1 7/ BRI "
” 7 2
29
7 9
fl ?
H Y1 = 9 = Y3 T = Yk
9
?
yoo= | ?
72 2 9 ? ' ? ? i
1 52 5. 5k
? f ? v
? M ? ' '? ' fl
29 9
7 I ? 1.s.d. (least

significant difference) ?

l.s.d. (° .
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53 ' (error

mean square)

2 ? ? 9
? ? ? 9
} k f
1 l.s.d. 53
9 i j
ls.d. (& 1 +M,
Vi i/
5 L=
53 53 2 9
F-cest
T-test |.f.|
2.4.5 " r r 21
r = (Pearson Product
Moment Correlation Coefficient)
nEXY - BEXZY

JNEX2 - (IX)2MEY2 - (EY)2



Determination)

2.4.6
Tanf

fnm
V 5

HQ

15

>

(The Coefficient of

nEXY - EXEYP
nEX2 - (EX)2 nEY2 - (EYv

0 1

?

HEX2 - (EX)2I[NEY2 - (EV)]

(degree of freedom)

2" t

009723
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